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Question Number : 1 Question Id : 43417823717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement regarding the role of heredity and environment in child

development is correct?

Options :

1. The role of environment is fixed, whereas the impact of heredity can be altered.

2. The role of heredity is fixed whereas environmental factors do not play much role.
3. Role of both heredity and environment are fixed and cannot be altered.

4. The relative effect of heredity and environment vary in different areas of development.

Question Number : 1 Question Id : 43417823717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 43417823718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In context of stages of development, what is the stage from 2 to 6 years called?
Options:

1. Early childhood

2. Middle childhood

3. Infancy

4. Adolescence

Question Number : 2 Question Id : 43417823718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 43417823719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which principal of development states that motor development proceeds from the centre of the

body towards the extremities?
Options :

1. Cephalocandal

2. Proximodistal

3. Cerebral

4. Peripheral

Question Number : 3 Question Id : 43417823719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 43417823720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rhea, a 4 year old girl got scolded by her parents when she refused to eat her vegetables. During

make- believe play, Rhea repeats this behaviour. Her behaviour depicts -



Options :

1. Primary socialization

2. Secondary socialization
3. Maturation

4. Unfolding of genetic programming

Question Number : 4 Question Id : 43417823720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 43417823721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Anita took Rashmi’s pen and in retaliation Rashmi ate Anita’s lunch. Pooja was observing all this
but did not report these incidents to the teacher as it involved ‘equal exchanges'. At which stage of

Moral development is Pooja according to Lawrence Kohlberg?
Options :
1. The good boy - good girl orientation

2. The social - order maintaining orientation



3. The Punishment and Obedience orientation

4. The instrumental purpose orientation

Question Number : 5 Question Id : 43417823721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 43417823722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, a child’s ability to solve conservation problems depends upon an

understanding of which basic aspects of reasoning?
Options :

1. Centration and reversibility

2. Compensation and classification

3. Decentralization and reversibility

4. Transitive inference and seriation



Question Number : 6 Question Id : 43417823722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 43417823723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Raghav pretends to ride a broomstick to represent riding a horse. This ability is called -
Options :

1. Symbolic representation

2. Egocentricism

3. Conservation

4. Seriation

Question Number : 7 Question Id : 43417823723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 43417823724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the concept of Zone of proximal development proposed by Lev Vygotsky, the term ‘Proximal’

indicates that the assistance provided learners current competence.
Options :

1. goes just below

2. goes just beyond

3. is linear with

4. is far beyond

Question Number : 8 Question Id : 43417823724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 43417823725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Akram instructs himself while assembling a set of blocks. In light of Lev Vygotsky's theory. Akram
isengagingin______ speech.

Options :

1. Egocentric

2. Private

3. Collective

4. Socialized

Question Number : 9 Question Id : 43417823725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 43417823726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The theory of multiple intelligence is given by-
Options:

1. Howard Gardner

2. Robert Sternberg

3. Alfred Binet

4. B. F. Skinner

Question Number : 10 Question Id : 43417823726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 43417823727 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A - Children acquire language since they are genetically predisposed to do so and the

environment does not play any role in it.
R - Language development is a product of only heredity.

Choose the correct option.

Options :

1. Both (A) and ( R) are true and (R) is the correct explanation of (A)

2. Both (A) and ( R) are true but (R) is not the correct explanation of (A)
3. (A)is true but ( R) is false

4. Both (A) and (R) are false.

Question Number : 11 Question Id : 43417823727 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 43417823728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a potential risk factor involved with learning and development of children

from the marginalized groups?
Options :
1. Teacher's negative beliefs about their abilities and having very low expatiations.

2. Representation of marginalized groups as central characters in stories that are included in

textbooks.
3. Emphasis on connection between local knowledge with school knowledge wherever possible.

4. Heterogeneous grouping in classrooms.

Question Number : 12 Question Id : 43417823728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

aﬁamﬁm ST TR =1 3 ST T (o 3 W ¥ S FE SWTEd Ses aTel 2
Options :

1 STEATIR! T IThT AT o A H TR W ST I 1 q5a 7 S|

TG 0l FEA1 5 A= T2 6 e 1 967 T 3 B9 5 Jree|

2

; e 7 W B FF (e 5 o S AT 1 AR S T % S 9 W A

. Eﬁ&ﬂﬁ%ﬁ?ﬂﬂaﬂaﬁmmgm|

Question Number : 13 Question Id : 43417823729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A school encourages girls to participate only in music and dance competitions and boys to only

take part in sports. This perspective of the school -

Options :

1. would challenge gender stereotyping.

2. is a pragmatic approach to foster inmate abilities of boys and girls.
3. reflects gender bias.

4. indicates progressive approach of the administration.

Question Number : 13 Question Id : 43417823729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e FeTera, FSTeRaT 31 Sheh 1 A e AT 3 S0 e 3 ot TIeeTies e 2] Teeiend o1 7%
SRUeHIT 0 2T 27

Options:

1 FET ST BIEaTaT ST i gﬁicﬂ AT 2|

5 TSIHRAT ST TTGHT ol TESTE TFAATST | Fg FE T FFETH U 2

; 7% ST Harel gateT i i 2|

, T TRITE o TTfe{e gIEahtor i EwaT &

Question Number : 14 Question Id : 43417823730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher closely observes children through the year when they are engaged in learning activities,

compiles samples of their work and maintains an observation diary of individual children. This



type of evaluation is-

Options:

1. standardized and uniform.

2. summative and teacher-oriented.
3. continuous and comprehensive.

4. norm - referenced and contextual.

Question Number : 14 Question Id : 43417823730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 43417823731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The purpose of assessment is -

Options :

1. to motivate children to study under threat.

2. to identify children as ‘slow’, ‘bright’ and ‘problematic'.



3. to provide credible feedback on learning.

4. to encourage classroom competition.

Question Number : 15 Question Id : 43417823731 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 43417823732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What pedagogical strategies should schools adapt to address individual differences among

students?

Options:

1. Follow uniform curriculum and assessment for all students.

2. Categorize children based on their cognitive abilities and teach them in separate sections.
3. Cater to the individual needs of children by being flexible.

4. Ensure that all individual differences among the children are removed.

Question Number : 16 Question Id : 43417823732 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 43417823733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which characteristic is a student with Attention Deficit Hyperactive Disorder (ADHD) likely to have?
Options :

1. Tendency to sit and do work quietly.

2. Tendency to get distracted easily.

3. Tendency to listen to others carefully for long.

4. Ability to read long passages without breaks.

Question Number : 17 Question Id : 43417823733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 43417823734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For teaching students who are gifted, a teacher should -

Options :

1. Encourage reading of high - level and original texts for them chosen with their consent.
2. Create special sections to distinguish them from other students.

3. Motivate them with external rewards.

4. Pressurize them to follow goals designed for them by the school.

Question Number : 18 Question Id : 43417823734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 43417823735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Raman a student of class IV, has low vision and has difficulty in reading and doing work from the

text book. His teacher should -

Options :

1. advise his parents to complete the work for him.

2. permanently exempt him from referring to the textbook.

3. provide with him with audio recorded lessons from textbook.

4. give the notebooks of his peers to him to copy the work.

Question Number : 19 Question Id : 43417823735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 43417823736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As an elementary school teacher, which of the following assessment strategy will you use in the

classroom to assist children with learning disability?

Options :

1. Construct tests that require maximum writing.

2. Keep handwriting as a creation for evaluating assignments.
3. Avoid spelling as a criterion for evaluating assignments.

4. Decrease the time allowed for writing.

Question Number : 20 Question Id : 43417823736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 43417823737 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are an effective strategy for promote meaningful learning?
(i) Use of examples and non-examples

(i) Encouraging students to ask questions

(iii) Having students teach the concept to someone else

(iv) Promoting children to constantly compare their performance with other children.
Options :

1. (i), (iv)

2. (ii), (iii), (iv)

3. (i), (ii), (iii)

4. (i), (ii), (iv)

Question Number : 21 Question Id : 43417823737 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 43417823738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Section (A) : Ahmed encourages children to his classroom to think of analogies to promote

effective problem solving.

Reason ( R) : Children learn meaningfully when the teachers enable them to make connections

with what they already know.

Choose the correct option.

Options :

1. Both (A) and ( R) are true and (R) is the correct explanation of (A)

2. Both (A) and ( R) are true and (R) is not the correct explanation of (A)
3. (A)is true but ( R) is false

4. Both (A) and (R) are false.

Question Number : 22 Question Id : 43417823738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 43417823739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 proposes pedagogical shift from to

Options:

1. constructivism; behaviorism

2. rote learning; conceptual understanding
3. inquiry based learning; drill and practice

4. assessment for learning; assessment of learning

Question Number : 23 Question Id : 43417823739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 43417823740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT contribute to critical thinking?

Options :

1. Thinkers identify and challenge assumptions underlying a statement.

2. Thinkers check for factual accuracy and logical consistency among statements.
3. Thinkers do not consider the context of a situation.

4. Thinkers imagine and explore alternatives.

Question Number : 24 Question Id : 43417823740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 43417823741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meera practices guitar after school as she loves the activity and finds it very satisfying. She

illustrated




Options :

1. extrinsic motivation
2. intrinsic motivation
3. deficiency need

4. physiological need

Question Number : 25 Question Id : 43417823741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 43417823742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following promotes socio -emotional learning in the classroom?
Options :

1. Encouraging competition amongst learners .

2. Use of coersive discipline.

3. Empathetic and listening teacher.

4. Pressure to get good marks.



Question Number : 26 Question Id : 43417823742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 43417823743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about students’ errors is correct?

Options:

1. Errors help the teachers in labelling students as ‘weak’ or ‘bright’.

2. On the basis of their errors, the teacher can fail students and save her time.
3. Errors offer an opportunity for the teachers to understand students’ thinking.

4. Errors should be immediately rectified by asking the students to repeatedly rewrite the ‘correct

answers'.

Question Number : 27 Question Id : 43417823743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 43417823744 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following factors influence learning?
(i) emotional

(ii) cultural content

(iii) maturation

(iv) interest
Options :

1. (iii), (iv)

2. (ii), (iii), (iv)

3. (i), (i), (iii), (iv)
4. (ii), (iv)

Question Number : 28 Question Id : 43417823744 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 43417823745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a characteristic of constructivism?
Options :

1. Learners construct their own understanding.

2. New learning depends on current understanding.

3. Learning is hindered by social interaction.

4. Meaningful learning occurs within authentic learning tasks.

Question Number : 29 Question Id : 43417823745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 43417823746 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A textbook of class III uses cartoons and stories. This would -
Options :

1. create unnecessary confusion in the mind of students.

2. lead to boredom and disinterest in students.

3. distract the students from learning and relating the concept.

4. make the content interesting and relatable for the children.

Question Number : 30 Question Id : 43417823746 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Id : 4341781376
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 43417823747 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If you have 3 one rupee coins, 2 two rupee coins and | ten rupee coin. In how many ways you can give 14 mpees to
me?

Options:
1.1

N
tJ



Question Number : 31 Question Id : 43417823747 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 43417823748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If we multiply all the digits given on a keypad of a mobile phone. the product will be:
Options :
1. 3628800

5 362880

3 40320



Question Number : 32 Question Id : 43417823748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 3628800

5 362880

3. 40320

Question Number : 33 Question Id : 43417823749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a garden, there are 48 footmarks of kangaroos, 12 footmarks of rabbits and 40 footmarks of a duck. How many
kangaroos, rabbits and ducks are standing respectively in the garden?

Options :
1. 24,3, and 10
5 12,6, and 15

3. 12. 3, and 20

4. 24, 6, and 10



Question Number : 33 Question Id : 43417823749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

24.3 3T 10

1.

12. 6 3T 15

12.3 377 20

24. 6 3T 10

Question Number : 34 Question Id : 43417823750 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A rectangular field has 4 cm length and 3 cm width. From the corner of this field, a small square of side lem is cut off.
What will be the ratio of the length of the boundary of the rectangular field before cutting square and length of the
boundary of the rectangular field after cutting square?

Options :
1. 1:0.5

4 1:14



Question Number : 34 Question Id : 43417823750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 1:0.5

5 0.5:1
3. [

4 1:1.4

Question Number : 35 Question Id : 43417823751 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Shan wishes to pour 2 litres of milk into three bottles so that the first bottle holds % of the milk, the second bottle holds

¥ 0f the rest of the milk and the third bottle holds 1 of the remaining milk. How much amount of milk will be left with
Shan after filling all the three bottles?

Options :
1. 200ml
2. 750ml

3. 250ml

4. 50ml



Question Number : 35 Question Id : 43417823751 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 200 T =,
5, 750 T
3 250 T =

4. 50T =

Question Number : 36 Question Id : 43417823752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Varun has a 210 currency note with him. He purchases a pen of 26. Shopkeeper gives him some coins of 21 and 22 in
return. How many total colns he has received?

Options :
1. 1

I3



Question Number : 36 Question Id : 43417823752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1

[

Question Number : 37 Question Id : 43417823753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sum of six consecutive numbers is 45, What is the sum of squares of first three numbers from the given six
consecutive numbers?

Options:
1. 110

5> 210

3. 194

Question Number : 37 Question Id : 43417823753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1. 110

Question Number : 38 Question Id : 43417823754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Statement A: | is not a prime number
Statement B: | is not a composite number

Which of the above statements is/are true?
Options :
1. Both A & B are true

2. Both A & B are not true

3 A is true. B is not true

4 A is not true, B is true

Question Number : 38 Question Id : 43417823754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 43417823755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Two third of three twentieth is:
Options :

1. Two twentieth
2. Three tenth
3. One twentieth

4, Four tenth

Question Number : 39 Question Id : 43417823755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 43417823756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Gita wants to fence a land with a 100 m wire. Which shape of the land she should fence so that she can have the
maximum area?

Options :

1 Triangular shape
5. Square shape
3 Rectangular shape

4. Circular shape

Question Number : 40 Question Id : 43417823756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 41 Question Id : 43417823757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Teacher gives Swara two shapes: A thombus and a kite. She asked her to tell the name of the shape having more lines of
symmetry. Swara responded:

Options :
1. Kite

2. Rhombus

3. Both shapes have equal number of lines of symmetries

4. There is no line of symmetry in any of the shapes.

Question Number : 41 Question Id : 43417823757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 43417823758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A bus from Delhi leaves every half an hour from a bus terminal. An inquiry clerk told a passenger that the bus had left
ten minutes ago and the next bus will leave at 9:25 a.m. At what time did the enquiry clerk give this information to the
passenger?

Options :
1. 9:10 am

2. 9115 am

5 am

A

3. &

4. 9:05 am

Question Number : 42 Question Id : 43417823758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :



- 9:10 am

—

2 9:15 am
3. 8&:55 am

4. 9:05 am

Question Number : 43 Question Id : 43417823759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following rectangles can have maximum perimeter?
Options :

1. Rectangle with area 60cm? and one side 1 cm.
- Rectangle with area 60cm?® and one side 2em.
3. Rectangle with area 60cm? and one side 6em.

4 Rectangle with area 60cm? and one side 12cm.

Question Number : 43 Question Id : 43417823759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 43417823760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Doctor has advised Aman to drink plenty of water every day. He drinks 14 glasses of water regularly. If the capacity of
the glass is 300ml, how many Litres of water he drinks in 1 week?

Options :
1. 24.9L

5 204L
3 304L

4 284L

Question Number : 44 Question Id : 43417823760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1. 24.9




5> 29.4 X

3. 30.4 FeT

4 28.4 X

Question Number : 45 Question Id : 43417823761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Identify the angle made by the middle alphabet of the word ‘ONE’.

Options :

1. Acute angle

- Right angle

3, Obtuse angle

4. Complimentary angle

Question Number : 45 Question Id : 43417823761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 43417823762 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct order according to Polya’s problem solving model?

Options :
1. Understand the problem. devise a plan. look back, carryout the plan.
5 Understand the problem. devise a plan, carryout the plan, look back

3. Devise a plan, understand the problem, carryout the plan, look back

4. Devise a plan, understand the problem, look back, carryout the plan

Question Number : 46 Question Id : 43417823762 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 43417823763 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT true about the ‘nature of concepts’ in mathematics?
Options:

1. Abstract in nature
2. Hierarchical in nature

3 Logical in nature

4. Concrete in nature

Question Number : 47 Question Id : 43417823763 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 43417823764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After teaching ‘Place value of numbers’, a teacher gave the following question to solve-
“Take two digits, say 3 and 5. Make four digit numbers using both the digits equal number of times. Is your
answer unique?”

Which of the following statements is correct for the above context?
Options :

1. Itis an open ended question and gives opportunities to students to analyse and critique each other’s responses.
o Itis an example of closed ended question.
3. Multiple responses to a question should be discouraged in mathematics.

4. It is an example of contextual question.

Question Number : 48 Question Id : 43417823764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 43417823765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms Sonali, a class I mathematics teacher gives the following activities to her learners-
i) Sorting shells, stones, tokens of different size and colour
il)  Arranging different sticks in a bundle according to their lengths

(

(

(iif)  Collecting sticks, feathers, leaves from their surroundings and tie them in groups
l: T

iv)  Threading the beads to form a garland for counting

These type of activities are-

Options:

1 done in primary classes for leisure

- awaste of time as teacher should focus on solving problems given in textbook

3. only done in pre-primary hence an irrelevant activity in class L.

4 seful for assessing children’s readiness to introduce important coneepts like tmbers, counting in arithmetic.

Question Number : 49 Question Id : 43417823765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 43417823766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to “National Curriculum Framework’ 2005, which of the following processes are indicative of
‘Mathematization of child's thinking'?

Options :
1. Mathematical communication only through a formula
5 Solving the problem using formal procedures and checking the answers from an answer key

3. Estimating the weights of different objects in surroundings and discussing the answers with peers and teachers

4 Doing an activity on addition following the strict prescribed instructions given by the teacher



Question Number : 50 Question Id : 43417823766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 43417823767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to *National Curticulum Framework’ (2005), ‘The Shape of mathematics education has become taller and
more spindly, rather than broad and rounded.” This means

Options :
1 There is no communication between primary school and high school teachers
5 Topics have been introduced in hierarchical level of difficulty in mathematics curriculum

3, Over the years, the mathematics curriculum has increased in volume by inclusion of many new topics.

A curriculum aceeleration has led to pruning of some basic topics to include new topics which are of significance in
4. ligher mathematics education



Question Number : 51 Question Id : 43417823767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TG W T (2003) % SR, T e 77 ST = i e & % ST S v oA
RS 21T 21| 7 74 2

Options :

: YT et 17 3= faaert & 99T I Ui 9aTE (FU90) T8 2

, TTTOTA TTSa5RE § TSt 1 U= HiSTs  20ag W & %%Hltﬁmﬂﬁl 2l

T T 3 v 4 T 3 e & TR g e i e g

G 3 TG £ % 01 35 AT T 1 72212 61T 2 (T 0 e o1 T v
. ﬁ%ﬁﬁm%awqq%%@wujﬁl

Question Number : 52 Question Id : 43417823768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Concept maps are commonly used in mathematics teaching.
Which of the given statements are true about concept maps?
(a) It is a complex network depicting the relationship between all the subconcepts of the concept.
(b)It is a linear arrangement of all the subconcepts of the concept.
(c) They can be used as diagnostic tools to identify difficulties in learning that students are facing.
(d) They help a teacher to gain new insights into the nature of mathematics.

Choose the correct option
Options:

1 (b) and (c)

3 (b) and (d)



3. (b). () and (d)

4. (a), (c) and (d)

Question Number : 52 Question Id : 43417823768 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 43417823769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following represents the correct matching pairs?

(a) Formative (1) Children memorising the
Assessment facts and are assessed
through written tests
(b) Teacher centred (i)  Children work both
classroom individually and in groups

and are assessed while
doing activities

(¢) Child centred (1)  Helps to assess social skills
classroom and cooperative learning
processes
(d) Group Assessment (iv)  Finds out what learning,

changes and progress has
taken place in the child over
a period of time in different
subjects and other
dimensions of personality

Options :
1 @ (iv), b (1), ¢ (ii), d (iii)
5 4 (ii), b (i), c (iv), d (iii)

3 4 (iii), b (i), ¢ (iv). d (ii)

4 A (ii). b (iv), ¢ (iii), d (1)

Question Number : 53 Question Id : 43417823769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
. a(iv), b (i), c (i), d (iii)

, a(ii). b (i), c (iv), d (iii)

;. aliii), b (i), ¢ (iv), d (ii)

. a (i), b (iv), c (iii), d (i)

Question Number : 54 Question Id : 43417823770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an appropriate assessment method for primary class children?



Options :

1. Atest based on recalling of facts and formulae
o Asubjective test according to the learning levels of children
3. Using ICT based tools for assessment

4, Using concept maps

Question Number : 54 Question Id : 43417823770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 43417823771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A primary class teacher is using a variety of concrete material to teach place value to his students. These include:
(a) Dienes Blocks
(b)Bundles of matchsticks (unburnt)
(c) Fake currency notes (money)
(d) An abacus

Which of the following represents appropriate classification of the concrete material?
Options :

1. (@) and (d) are proportional material
5 (a) and (b) are proportional material
3 (b) and (d) are proportional material

4. (@) and (c) are non-proportional material

Question Number : 55 Question Id : 43417823771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 43417823772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assessing children’s previous knowledge of mathematical concepts is important because,
Options :

1 it helps in memorising mathematical facts

o mathematics is integrated with other subjects

3. it is helpful in summative assessment

4 mathematical concepts are hierarchical in nature

Question Number : 56 Question Id : 43417823772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 43417823773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sum of 6 and 7 is 13. It is an example of
Options :

1. Definition
- Proposition
3 Open sentence

4. Conjunction

Question Number : 57 Question Id : 43417823773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 43417823774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following levels of cognitive domain are responsible for divergent thinking processes?

Options :

1 Knowledge, Comprehension, and Application
5 Analysis. Synthesis and Evaluation
3. Knowledge, Analysis, and Evaluation

4. Comprehension, Analysis, and Evaluation

Question Number : 58 Question Id : 43417823774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 43417823775 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To solve 76 x 32, a student uses the following methods:
76x 32

=(70+6)x (30 + 2)

=(70x30)+(6x30)+(70x2)+(6Xx2)

=2100 + 180 + 140 + 12

= 2432
For the above method which of the following statements is true?
Options :

1 Informal techniques of problem solving should be discouraged among learners

- Student does not have conceptual knowledge of multiplication

3. The method used by student reflects her understanding of the properties of multiplication.

4. Student will get zero marks in written test for using this method.

Question Number : 59 Question Id : 43417823775 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

76x32 T 557 T T v Tyt refeRes et = v Ear -
7632
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= (70%30)+(6x30)+(70x2)+(6x2)

=2100+180+140+12

= 2432
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Question Number : 60 Question Id : 43417823776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The most appropriate reason for introducing Geo-board based activities could be-
Options :

1 toteach lines and angles to learners.
5 to teach different types of triangles to learners.

3. to teach volume to learners.

4. to provide concrete representations for many investigations in geometrical concepts.

Question Number : 60 Question Id : 43417823776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Environmental Studies
Section Id : 434178761
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 4341781377
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 43417823777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The house of a patient is at X and the hospital where he is getting his treatment is at Y. There is no
straight lane from the patient's house to the hospital. Therefore, the patient first goes to A which
is 800m due east of X, then goes to B which is 600m due south of A, then to C which is 150m due
west of B and finally reaches the hospital at Y, which is 100m due north of C. With respect to the

hospital the direction of the patient's house is



Options :

1. South-east
2. South-west
3. North-east

4. North-west

Question Number : 61 Question Id : 43417823777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 43417823778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The bird which can move its neck back and forth with a jerk is
Options:

1. pigeon

2. parrot



3. owl

4. mynah

Question Number : 62 Question Id : 43417823778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 43417823779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The bird which can rotate its neck backward to a large extent is
Options:

1. pigeon

2. parrot

3. owl

4. mynah

Question Number : 63 Question Id : 43417823779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 43417823780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Braille script is used by visually impaired persons. In this type of script a row of raised dots are
made on a thick paper. Because of these raised dots the visually impaired persons can read by

running their fingers on them. This script is based on
Options:

1. 10 points

2. 8 points

3. 6 points

4. 4 points

Question Number : 64 Question Id : 43417823780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 43417823781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There is a state in our country where in rural areas, (villages) because of heavy rains, the houses
are made almost 3 to 3.5 m (10 to 12 feet) above the ground because these houses are made

using bamboo pillars. The insides of the houses are made of wood. This state is
Options :

1. Uttarakhand

2. Andra Pradesh

3. Tamil Nadu

4, Assam

Question Number : 65 Question Id : 43417823781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 43417823782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The state in which the "Jim Corbett National Park" is located is
Options :

1. Rajasthan

2. Uttar Pradesh

3. Gujarat

4. Uttarakhand

Question Number : 66 Question Id : 43417823782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 43417823783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the description of houses of three different places with altogether different climates

A. In Leh (Ladakh) houses are made of stones, have two floors, ground floor for animals and for

storing necessary things, wooden floors, flat roofs
B. In Manali (Himachal Pradesh) houses are made on bamboo pillars, made of wood and stones
C. In Rajasthan people in rural areas live in mud house, with roofs of thorny bushes

The correct description of houses is/are
Options :

1.only A

2.only C

3.Aand B

4. Aand C

Question Number : 67 Question Id : 43417823783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 43417823784 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following organisms
Crocodile, Crow, Duck, Fish, Tortoise

Select the one which is different from the others
Options :

1. Tortoise

2. Fish

3. Crow

4. Crocodile

Question Number : 68 Question Id : 43417823784 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
= 2w U Sfrat w fTEw i

STEgTe, TtedT, §a, ToT, AT
TS e E T —




Options :
= g a I

1. =i

2, T
3. e

5, TS

Question Number : 69 Question Id : 43417823785 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about elephants.

A. A herd may have 20-25 female elephants and young ones

B. Male elephants live in the herd till they are 4-5 years old

C. An adult elephant can eat more than 100 kg of leaves and twigs in one day
D. In an elephant herd the oldest female elephant decides everything

The correct statement is/are
Options :

1.only A

2.only C

3.Cand D

4.A,Band D

Question Number : 69 Question Id : 43417823785 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 43417823786 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For the people of Bihar the best period to start bee-keeping is
Options :

1. January to March

2. April to June

3. July to September

4. October to December

Question Number : 70 Question Id : 43417823786 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 43417823787 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A tourist boarded a train on 16.10.2021 from Udupi for Surat. The train departed from Udupi at
20:20 hours and reach Surat at 16:20 hours on the next day i.e., 17.10.2021. If the distance
between the two city stations is 1440 km, the average speed of the train during the journey of the

tourist was
Options :
1.72 m/s
2.40 m/s
3.20 m/s

4. 36 km/hour

Question Number : 71 Question Id : 43417823787 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 712 m/s
2 40 m/s
3. 20 m/s

4. 36 km/h

Question Number : 72 Question Id : 43417823788 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the map of India if you draw a straight line from Kolkata (capital of West Bengal) to

Chandigarh, then the direction of Chandigarh with respect to Kolkata would be
Options :

1. Due east

2. Due west

3. North east

4. North west

Question Number : 72 Question Id : 43417823788 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 43417823789 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following the correct sequence of growing the onion crops :

A. Sowing the seeds

B. Weeding

C. Cutting the dried leaves from the top of onion

D. Digging to loosen the soil

E. Plucking the onion out
Options :

1.D,A E B, C

2.D,E,A B, C
3.D,B,AEC

4.D,A B, E C

Question Number : 73 Question Id : 43417823789 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 43417823790 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The characteristic features NOT found in desert Oak trees is
Options :

1. Roots go deep into the ground

2. Trunks store water

3. Have few leaves

4. Have large and numerous leaves

Question Number : 74 Question Id : 43417823790 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 43417823791 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Neighbouring states of Tamil Nadu are
Options :

1. Andhra Pradesh, Karnataka, Maharashtra
2. Andhra Pradesh, Kerala, Karnataka

3. Andhra Pradesh, Odisha, Kerala

4. Andhra Pradesh, Gujarat, Maharashtra

Question Number : 75 Question Id : 43417823791 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 43417823792 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mohan shares in the class that her father prepares "Kulhads". You want to teach students to

prepare Kulhads for drinking tea under the theme, "things we make and do".

Which of the following resources will you use ?
Options :

1. Community Resources

2. Technology Resources

3. Media Resources

4. Resources in nature

Question Number : 76 Question Id : 43417823792 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 43417823793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is the best description of science ?
Options :

1. science is systematized knowledge and static

2. science is body of knowledge and process of constructing it

3. science is organized knowledge and systematized

4, science is body of organized knowledge and dynamic

Question Number : 77 Question Id : 43417823793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ffafEs 3 #19-97 e fae= 1 99y Juie a7 22
Options :

1 oS Feaatedd 1 va fer 2
, TS T ST 39S v I T S e 2

T iR T v e 7

4 o= Enfad 9 7 T2 U T 2



Question Number : 78 Question Id : 43417823794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per National Curriculum Framework 2005, which of the following statements describe EVS

learning ?

A. Acquisition of knowledge and skills from the environment

B. sharing of ideas and skills among learners

C. receiving information which is being transmitted

D. active construction of knowledge by learners
Options:

1.A,B&C

2.B,C&D

3.C, D&A

4.D,A&B

Question Number : 78 Question Id : 43417823794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 43417823795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements best describes EVS at primary level ?
Options :

1. A subject studied about the environment

2. A subject taught in classes I to V

3. A subject related to the child's environment

4. A subject that consists of various themes

Question Number : 79 Question Id : 43417823795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 43417823796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an EVS class, Reeta asks her teacher why she is expected to prepare tea for guests while her

brother is not expected to do so ?

Is this an issue related to EVS ?

Options :

1. No, since it does not nurture creativity of students

2. No, since it is concerned with the normal routine activity of the student
3. Yes, since it is related to equality and non-discrimination

4. Yes, since student is sharing an experience related to her daily life

Question Number : 80 Question Id : 43417823796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 43417823797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The most appropriate activity to teach water conservation will be asking students to
Options :

1. collect stories, poems and songs related to saving water

2. observe pictures related to use of water and discuss where the use of water is more
3. prepare a water budget of how they and their family members use water

4. draw a picture of activities they can do using water and without water

Question Number : 81 Question Id : 43417823797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 43417823798 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During an educational trip to forest at night, a student of class III draws your attention towards
the "chree chree" voice made by an insect and asks, " what is it?". Another student replied, "That is

the sound of stars twinkling". As an EVS teacher what would you do :



Options :

1. correct the student by telling that it is a voice produced by an insect
2. allow other students to share their responses

3. accept this explanation since they will learn in higher classes

4. ask students to search from where the voice is coming

Question Number : 82 Question Id : 43417823798 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 43417823799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The results of the experiments suggested in the chapter of EVS book-
Options :

1. must be given at the end of the experiment so that students can verify
2. must not be given since students must observe and derive inference

3. must be explained by the EVS teacher so that students can understand



4. must be explained at the end of the experiment so that students can learn

Question Number : 83 Question Id : 43417823799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 43417823800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The gardener of your school collects dry leaves from the school garden and burns them. One of

your students complaints about this to you. What will you do ?

Options:

1. explain to the student that the gardener is reducing garden waste

2. ask the students to help gardener in collecting dry leaves and help them to make compost
3. talk to the gardener and instruct him not to do so since it is harmful for the environment

4. request the Principal to solve this issue since this may pollute the school's environment

Question Number : 84 Question Id : 43417823800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 43417823801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are essential elements of Cooperative Learning ?
A. students work in groups

B. students share in groups

C. students compete positively with others in groups

D. students support each other in groups
Options:

1.A&B

2.B&D

3.C&D

4. A&D



Question Number : 85 Question Id : 43417823801 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 43417823802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an EVS class, teacher asked all students to respond on how clothes are washed? Students
answered that they see their mother use a variety of methods to wash clothes such as add soap,
beat the clothes on stone, beat with paddle, scrub with brush or in washing machine. Which of the

following statements explains best why the teacher conducted this discussion ?
A. for highlighting social disparity among students

B. for encouraging students to reflect on home experiences



C. for providing a varied context of how clothes can be washed

D. for teaching them the process of cleaning the clothes
Options :

1.A,B&C

2.B,C&D

3.C&Donly

4. A& Conly

Question Number : 86 Question Id : 43417823802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 87 Question Id : 43417823803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following statements describes the role of teacher in a constructivist classroom ?
A. read & explain knowledge

B. encourage students to construct knowledge

C. ask question and explain

D. encourage students to explain
Options :

1.A&B

2.B&D

3.C&D

4. A&D

Question Number : 87 Question Id : 43417823803 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 88 Question Id : 43417823804 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the suitable alternative for the statement

Environmental studies is subject.
Options:

1. Interdisciplinary

2. Disciplinary

3. Integrated

4. Single subject

Question Number : 88 Question Id : 43417823804 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 43417823805 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher is discussing different types of nests. She asks students about the types of nests they
might have observed. A student replied that few days ago, a sparrow built a nest at their balcony
but his mother removed it saying that the balcony is getting dirty with twigs and excreta of birds.

What should teacher do ?
Options :
1. Talk to student's mother and tell her that she had done wrong by removing the nest

2. Conduct workshop for students and parents and explain why birds nests should not be

destroyed
3. Ask students to visit a nearby bird sanctuary with their parents and watch bird nests

4. Tell student that mother is right since birds must build nest on trees and not in our homes

Question Number : 89 Question Id : 43417823805 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 43417823806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching about conservation of natural resources, you told the students that we should turn
off vehicles at crossroad during red lights. Next day one of your students says that his father did

not follow this. What is being neglected by the father of that student
A. Ensuring road safety

B. Following of Traffic rules

C. Concern for environment

D. Judicious use of fuel
Options:

1.A&B

2.B&C

3.C&D

4.D & A

Question Number : 90 Question Id : 43417823806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 1 TR e 7 e 3 23 T 2, S 3 o g T o & 9 F, T 9
i e i AR e el e 2 o e T 4 e e ) T 9 fevnef o w7 et
Ee O K b

A) AT 4 o A

B) 3% g o e A
() THEmE o e 2
D) i e v

Options :



> B AT C
3. C#TD
4 DITA

Language I
Section Id : 434178762
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 4341781378
Question Shuffling Allowed : Yes

Question Id : 43417823807 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the
questions by choosing the best/most appropriate options.

In the past 25 years, scientific studies have shown us what exactly
friends are for: they slash our risk of mortality in half, double our
chances of recovering from depression, make us 4.2 less likely to
succumb to common cold. According to University of Oxford
psychologist, Robin Dunbar, they’re even responsible for our
massive brains. Dunbar found that the biggest predictor of a
primate’s brain size 1s the magnitude of its social group.

Is there any evolutionary value 1n social attachment?
Recent neurological research suggests that’s the case.

Naomi Eisenberger from the University of California wanted to
know if there was any truth to the language, we use to describe
social connection- that, for example, it makes us feel warm-
hearted. For a 2013 study, she had half the participants hold a
heat pack and the other half an unheated ball. Unsurprisingly,
members of the former group registered more activity in regions
that detect and reward physical warmth. She then collected
messages from the participants’ family and friends- half of these
messages Were loving while the other half were factual messages.
When the subjects, who were monitored using brain scans, were
read the tender messages for the first time, “the same neutral
regions were active as with the heat packs™. She says, “We know
how important it 1s to have relationships, and we are borrowing
from those brain regions that are associated with warmth to signal
to us when we feel connected™.

Sub questions

Question Number : 91 Question Id : 43417823808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Dunbar’s study the size of a primate’s brain is
dependent on

1. the amount of food it eats.

2. the number of members in its social group.
3. the number of children thev have.

4. the age of the primate.

Options:
1.1
2.2
3.3



4.4

Question Number : 92 Question Id : 43417823809 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the passage vou would have come across the word
“they’re™ this word represents a

word collocation
contraction of words
word families

word synonyms

k] e

-

Options:
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 43417823810 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the passage. friends

reduce our life by half
reduce our mortality by half
reduce our happiness
double our happiness

e v

s

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 43417823811 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The word *succumb’ does Not mean to

fail to resist
yield
submit

be happy

Options :

o bad e

o

1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 43417823812 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word “magnitude™ means

enormity.
shortness.
dwarfness.
tiny.

bt e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 43417823813 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the sentence, “members the former group regisiered more
activity in regions that detect and reward physical warmth”
refer to members

who were holding an unheated ball
who were holding an ice pack
who were holding a heat pack
who were holding a warm ball

b bd =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 43417823814 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Scientific studies show that friends

increase our physical well-being.

double our chances of recovering from depression.
double our chances of winning a lottery.

increase our happiness.

Sl et

o

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 43417823815 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Using the context from the passage, what does the
underlined word mean, “When the subjects....”

Physics, Chemistry, Biology
Participants in the study
Members of the society
Members of the primate group

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 43417823816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of the given passage. in the word —
“participants’ 7, the apostrophe is

1. correctly placed
2. should be placed before *s™ as in — participant’s
3. not needed
4. should be placed before *t as in — participant’s
Options :
1.1
2.2
3.3
4.4

Question Id : 43417823807 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the
questions by choosing the best/most appropriate options.

In the past 25 years, scientific studies have shown us what exactly
friends are for: they slash our risk of mortality in half, double our
chances of recovering from depression, make us 4.2 less likely to
succumb to common cold. According to University of Oxford
psychologist, Robin Dunbar, they’re even responsible for our
massive brains. Dunbar found that the biggest predictor of a
primate’s brain size 1s the magnitude of its social group.

Is there any evolutionary value 1n social attachment?
Recent neurological research suggests that’s the case.

Naomi Eisenberger from the University of California wanted to
know if there was any truth to the language, we use to describe
social connection- that, for example, it makes us feel warm-
hearted. For a 2013 study, she had half the participants hold a
heat pack and the other half an unheated ball. Unsurprisingly,
members of the former group registered more activity in regions
that detect and reward physical warmth. She then collected
messages from the participants’ family and friends- half of these
messages Were loving while the other half were factual messages.
When the subjects, who were monitored using brain scans, were
read the tender messages for the first time, “the same neutral
regions were active as with the heat packs™. She says, “We know
how important it 1s to have relationships, and we are borrowing
from those brain regions that are associated with warmth to signal
to us when we feel connected™.

Sub questions

Question Number : 91 Question Id : 43417823808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Dunbar’s study the size of a primate’s brain is
dependent on

1. the amount of food it eats.

2. the number of members in its social group.
3. the number of children thev have.

4. the age of the primate.

Options:
1.1
2.2
3.3



4.4

Question Number : 92 Question Id : 43417823809 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the passage vou would have come across the word
“they’re™ this word represents a

word collocation
contraction of words
word families

word synonyms

k] e

-

Options:
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 43417823810 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the passage. friends

reduce our life by half
reduce our mortality by half
reduce our happiness
double our happiness

e v

s

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 43417823811 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The word *succumb’ does Not mean to

fail to resist
yield
submit

be happy

Options :

o bad e

o

1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 43417823812 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word “magnitude™ means

enormity.
shortness.
dwarfness.
tiny.

bt e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 43417823813 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the sentence, “members the former group regisiered more
activity in regions that detect and reward physical warmth”
refer to members

who were holding an unheated ball
who were holding an ice pack
who were holding a heat pack
who were holding a warm ball

b bd =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 43417823814 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Scientific studies show that friends

increase our physical well-being.

double our chances of recovering from depression.
double our chances of winning a lottery.

increase our happiness.

Sl et

o

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 43417823815 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Using the context from the passage, what does the
underlined word mean, “When the subjects....”

Physics, Chemistry, Biology
Participants in the study
Members of the society
Members of the primate group

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 43417823816 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of the given passage. in the word —
“participants’ 7, the apostrophe is

correctly placed

should be placed before s as in — participant’s
not needed

should be placed before *t™ as in — participant’s

Wb -

P

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 4341781379

Question Shuffling Allowed : Yes

Question Id : 43417823817 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (100 to 105)



Question Label : Comprehension

Read the poem given below and answer the questions by choosing
the correct/most appropriate options:

Boats sail on the rivers,

And ships sail on the seas;

But clouds that sail across the sky
Are prettier than these.

There are bridges on the rivers,

As pretty as vou please;

But the bow that bridges heaven,
And overtops the tree,

And builds a road from earth to sky,
Is prettier far than these.

Sub questions

Question Number : 100 Question Id : 43417823818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The main idea in the poem, ‘Rainbow” is that

rainbow are extremely beautiful.

man-made things have a beauty of their own.
God-made things are more beautiful than man-made
things.

4. both rainbows and ships are a source of joy.

SRl e

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 43417823819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The prominent literacy device used by the poet in this
poem is

repetition.
assonance.
synechdoche.
metonymy.

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 43417823820 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the second half of the poem, the poet compares a bridge
to

heaven

a rainbow
ariver

a road

e oo

i

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 43417823821 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The literacy device used in the lines “And ships sail on the
sea; " is

alliteration
metaphor
simile
hyperbole

ol o

B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 43417823822 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following underscores the symbolic
significance of the rainbow?

The rainbow is more beautiful than boats and ships.
It has a transitory existence.

Its beauty has a bewitching effect on man.

It links the earth with heaven.

o bt

el

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 43417823823 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poet thinks of the rainbow

as a kind of road to happiness
as a kind of road to heaven
as a kind of road to salvation
as a kind of road to the sky

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Id : 43417823817 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the poem given below and answer the questions by choosing
the correct/most appropriate options:

Boats sail on the rivers,

And ships sail on the seas;

But clouds that sail across the sky
Are prettier than these.

There are brideges on the rivers,

As pretty as you please;

But the bow that bridges heaven,
And overtops the tree,

And builds a road fiom earth to sky,
Is pretiier far than these.

Sub questions

Question Number : 100 Question Id : 43417823818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The main idea in the poem, ‘Rainbow” is that

rainbow are extremely beautiful.

man-made things have a beauty of their own.
God-made things are more beautiful than man-made
things.

4. both rainbows and ships are a source of joy.

e tel e

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 43417823819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The prominent literacy device used by the poet in this
poem is

repetition.
assonance,
synechdoche.
metonymy.

o bt

el

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 43417823820 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the second half of the poem, the poet compares a bridge
o

heaven

a rainbow
ariver

a road

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 43417823821 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The literacy device used in the lines “And ships sail on the
sea; " is

1. alliteration
2. metaphor
3. simile

hyperbole

B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 43417823822 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following underscores the symbolic
significance of the rainbow?

The rainbow is more beautiful than boats and ships.
It has a transitory existence.

Its beauty has a bewitching effect on man.

It links the earth with heaven.

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 43417823823 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet thinks of the rainbow

as a kind of road to happiness
as a kind of road to heaven
as a kind of road to salvation
as a kind of road to the sky

e tel e

e

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 4341781380

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 43417823824 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher gives instruction to the learners of class I1 and they are following the given actions. The teacher is practising:

. Structural approach

2. Total Physical Response approach
3. Eclectic teaching approach

4. Constructivist approach

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 43417823824 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Atteacher gives instruction to the learners of class IIT and they are following the given actions. The teacher is practising:

. Structural approach

2. Total Physical Response approach
3. Eclectic teaching approach

4. Constructivist approach

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 43417823825 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Loud reading activities should preferably be done with

Junior students

Senior students

Only senior students in remedial classes

Only junior students who don’t complete their classwork

s vl

e



Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 43417823825 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Loud reading activities should preferably be done with

Junior students

Senior students

Only senior students in remedial classes

Only junior students who don’t complete their classwork

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 43417823826 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms Sudha gives her students a topic to write a paragraph on. This written activity is an example of

l. Guide composition

2. Free composition

3. Controlled composition
4. Pre-composition

Options :
1.1
2.2
3.3



4.4

Question Number : 108 Question Id : 43417823826 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms Sudha gives her students a topic to write a paragraph on. This written activity is an example of

I. Guide composition

2. Free composition

3. Controlled composition
4. Pre-composition

Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 43417823827 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms Asha’s class is doing negative sentences in class. Ms Asha gives a sentence to the students and the students are
expected to tell its negative sentence. Ms Asha is following

L. repetition drill In her class

2. transformation drill in her class
3. completion drill in her class

4. substitution drill in her class

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 43417823827 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Ms Asha’s class is doing negative sentences in class. Ms Asha gives a sentence to the students and the students are
expected to tell its negative sentence. Ms Asha is following

L. repetition drill in her class

2. transformation drill in her class
3. completion drill in her class

4. substitution drill in her class

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 43417823828 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

M. Ali plays an audio clip sharing the routines of a husband and a wife. After the audio clip is played, he gives the
students a True/False worksheet based on the audio clip they heard.
By doing this Mr. Ali is strengthening his students’ skills

[ Reading
2. Listening
3. Speaking
4, Writing

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 43417823828 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Mr. Ali plays an audio clip sharing the routines of a husband and a wife. After the audio clip is played, he gives the
students a True/False worksheet based on the audio clip they heard.
By doing this Mr. Ali is strengthening his students’ skills

l. Reading
2. Listening
3. Speaking
4. Writing

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 43417823829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In remedial teaching

students get support to improve their performance
students get extra marks

students are given questions to answer

students are encouraged to study.

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 43417823829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In remedial teaching

students get support to improve their performance
students get extra marks

students are given questions to answer

students are encouraged to study.

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 43417823830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The ad tag line, “dil mange more” (In Hindi) is an example of

Code-switching
Intonation
Collocation
Diphthong

Shlerud e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 43417823830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The ad tag line, “‘dil mange more” (in Hindi) is an example of

Code-switching
Intonation
Collocation
Diphthong

e tel e

e



Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 43417823831 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the statement, “unless students read in quantity they will not become fluent readers. " It focuses on which kind of
reading?

[ Skimming and reading
2. Scanning and reading
3. Intensive reading
4. Extensive reading

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 43417823831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the statement, “unless students read in quantity they will not become fluent readers.” It focuses on which kind of
reading?

[ Skimming and reading
2. Scanning and reading
3. Intensive reading
4. Extensive reading

Options :
1.1
2.2



3.3
4.4

Question Number : 114 Question Id : 43417823832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who uses the term Language Acquisition Device?

Vygotsky
Pavlov
Chomsky
Piaget

SR e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 43417823832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who uses the term Language Acquisition Device?

Vygotsky
Pavlov
Chomsky
Piaget

e ol vl

s

Options:
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 43417823833 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The rise and fall of pitch is called

syllable
rhythm
intonation
pause

ialecbud e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 43417823833 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The rise and fall of pitch is called

syllable
rhythm
intonation
pause

o bad e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 43417823834 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Why do scientists and pedagogues say it is important to talk to babies?

It makes them smile

It makes us happy

It initiates learning the sounds of the language
It improves their vocabulary

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 43417823834 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why do scientists and pedagogues say it is important to talk to babies?

It makes them smile

It makes us happy

It initiates learning the sounds of the language
It improves their vocabulary

P g

e

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 43417823835 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

is a term associated with baby talk

Speaking
Babbling
Laughing
Gargling

s vl

e



Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 43417823835 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

is a term associated with baby talk

Speaking
Babbling
Laughing
Gargling

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 43417823836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms Gurmeet wants to tell her students about the COVID-19 Pandemic and get her students to write a few sentences on
the pandemic. Ms Gurmeet should

1. get her students copy and learn whatever she has written on the blackboard

2. dictate what she wants her students to write in thelr notebooks

3. tell the students to get the work done at home with the help of their parents or siblings

4. gets students to share their experience during the pandemic times and use the blackboard to put down key
expressions

Options :
1.1
2.2



3.3
4.4

Question Number : 118 Question Id : 43417823836 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms Gurmeet wants to tell her students about the COVID-19 Pandemic and get her students to write a few sentences on
the pandemic. Ms Gurmeet should

1. get her students copy and learn whatever she has written on the blackboard

2. dictate what she wants her students to write in their notebooks

3. tell the students to get the work done at home with the help of their parents or siblings

4. gets students to share their experience during the pandemic times and use the blackboard to put down key
expressions

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 43417823837 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms Isha shows pictures of things to her class II students. After showing the picture she calls out its name loudly and
clearly. By doing so

1. She is helping her students see new things
2. She wanfs her students to learn new words
3. She wants fo show her drawing skills

4. She wants to help her students read.

Options :
1.1
2.2
3.3
4.4



Question Number : 119 Question Id : 43417823837 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms Isha shows pictures of things to her class II students. After showing the picture she calls out its name loudly and
clearly. By doing so

. She is helping her students see new things
2. She wants her students to learn new words
3. She wants to show her drawing skills

4. She wanfs to help her students read.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 43417823838 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

theory describes the process by which readers combine their own background knowledge with information in a
text in order to comprehend that text.

. Code-switching
2. Learning

3. Schema

4. Humanistic

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 43417823838 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

theory describes the process by which readers combine their own background knowledge with information in a
text in order to comprehend that text.

. Code-switching

2. Learning

3. Schema

4. Humanistic
Options :
1.1
2.2
3.3
4.4

Language II

SectionId: 434178763
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 4341781381
Question Shuffling Allowed : Yes

Question Id : 43417823839 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (121 to 128)



Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 43417823840 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
IO Hora: H

1. Aldeheh R
EREIEAL

Options :

oW

1.1
2.2
3.3
4.4



Question Number : 122 Question Id : 43417823841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FICAETE o TTehaell T &1 31T fhd 91 § 81 23717
1. T

s

Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 43417823842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TIeehi I 3eoid Fal el 82
1. THMET 3R JeT9Ra 0
2. MY AR FgAd 4
3, ﬂ@aﬁﬁrﬂfnﬁmﬁﬁ
4. TETIRT 3R 0T |

Options :

1.1

2.2

3.3

4.4

Question Number : 124 Question Id : 43417823843 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TRITST o HATER 9 AR TTH= 0 S 2T F1feu-
1. =g &l =
THE & g

Bowo

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 43417823844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ot ferrt f -
1. o fatesy =g

4, TaemEET

Options :

| E]

Tad

1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 43417823845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FEM FACE R fog )
| -
e l-03
dZ-TA
ars-q4

B



Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 43417823846 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Farfaa wee § 7o vIee AR YT 2-
. forrEE

. fomima

3, fomm+d

4. To=ig-d

Options :

i ]

1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 43417823847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. YHRd

L

2. SH4
3, T
4, Aldh
Options :
1.1
2.2

3.3



4.4

Question Id : 43417823839 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 43417823840 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1. ATldHhER
R E AR

Options :

2w



1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 43417823841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FICAGTE & “TTehaell TT 1 3TaTE fohd 9r o 97 2317
1. &l

‘)

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 43417823842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TTeehi T Seoid Fal Herar 22

1. THMET 3R JeT9Ra 0
THE SR T5=a 5
3. TgART AR FETARG |
4, TETIRT 3T S0 §

]

Options :
1.1
2.2
3.3
4.4



Question Number : 124 Question Id : 43417823843 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TRIT9T & SR T YRATE TTH 361 |1 2T F1iet-
1. =g & B
O F B8

e Lad ]

Options:
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 43417823844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1. fafeaa s

o G

]

3. HAEN
4. fovmaed
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 43417823845 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A HAeE | W e g
| -

e -0

CrAE|

AR

B

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 43417823846 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TaRiaa ¥Tee § 7o v1ee 3R I -
|, fapEsEa

3. faerma+a
4. foefa+d
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 43417823847 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1. ¥R

(3



Options :
1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 4341781382
Question Shuffling Allowed : Yes

Question Id : 43417823848 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 43417823849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FEfARad o ¥ % U Fo07 956 & 995 §9 =l ardeal &l
A A5l ATl

1. TR fa 1 ST T 5 S 2l

3. T 2l F AT S TS T S

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 43417823850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Toper T =67 Seafy wea | AT A S w22
S\ ik

!4

4, IAET
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 43417823851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WAl SaIdEa g H _ FiumE
1. €l |
2. HLEAT
3. 9o
4. AT

Options:
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 43417823852 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Frfetad o o arnstt =61 Jia 39ersy T8 2
2. FAHI-ATAHT
3. HEHT-TTdHT

Options:

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 43417823853 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TofT 1531 26T SATaT fereeit T = T o S weka)
3. A H1eF AR A Ao
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 43417823854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IehY 1 AT YTe2 T 2
2. 34l
3. 344
4. 48

Options:

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 43417823855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IIIIIIIIIIIIII &1 o HehTerdt S1fer IRshd 2| a1 ¥ {@ifehd s
2 T W {5 9782 7 ST ToT 77 weetT 27

l. 8%
:I“ .1:-.4' I:
3. qol
4. AFES

Options:
1.1
2.2
3.3



4.4

Question Id : 43417823848 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 43417823849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FAfcIRaa o § s U Fo0F 956 & @95 &9 ol araal &
o g Ll

1. T T o1 W= 7T T S 2

3. ©EFHT 1 9 SATHRO ST TS T S

Options :
1.1
2.2
3.3



4.4

Question Number : 130 Question Id : 43417823850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tt T o1 Seaf SeRa ¥ el 91 ST gahdl 82

1. aHa

|

4. A
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 43417823851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. @A

2. §E=T

3. Jleq
4. dTdq

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 43417823852 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Feferfad o o vty =61 =iq Iuerey T8 2

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 43417823853 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=

feb=T STsa1 61 STare faesit arn | et o =i weh|
|. H&Hd F1eg U 39
3. HERT T 3R AR A

!4

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 43417823854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



IhT” T AT Ye2 TEY 2
!

Ll

¥4 4 5

Options:
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 43417823855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

.............. <M1 & TehTere] S1fe Tishd 21° 9199 ¥ {@ifehd ves
= T R ohd o2 o1 YA foam T aahar 22

i 5%
2. T
3. el
4. OFEE

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 4341781383

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 43417823856 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ffatad o ¥ fra e & fog seesr @ gemar T8t oo
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3. FdH 5 IR

. foramae q P?cﬂ?

Options :

I_Z-J'

Y

1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 43417823856 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frmfetaa o o fra = & forg seesty © gemar T8t e
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9158 WUl H R

3. A H IR

4. foramee 5 gur

!J

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 43417823857 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ooy tfos wfabrr fafo s srEenes favg &1 smar gl
1. 7@
RUES]
3, T
4, TG
Options :
1.1
2.2
3.3

4.4

Question Number : 137 Question Id : 43417823857 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
o it gfafwar fafa o FraETeH fooT &7 3R
1. AGU
2. 934
3. di=I-
4. TEH
Options :
1.1
2.2
3.3

4.4

Question Number : 138 Question Id : 43417823858 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

59 fereneff o= % T ved &, s e a5 Hord &
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2. R ° U3
3. TEAAl % |14 73T
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Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 43417823858 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ot farmeff s & fu ued &, sar aed o T HAH 2|
1. T 318 @ 734
2. SR § 934
3. &l % a1 U3
4. AR G 94
Options:
1.1
2.2
3.3

4.4

Question Number : 139 Question Id : 43417823859 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
SITT TheT TRE S ST ek foor arge HERE I

1, UhHOTATHT s==1 |

o, fgumfi =i g

3. U39 dehed aMEd s=a1 q
4, T dehed OfAd S=i |

Options:

1.1
2.2
3.3



4.4

Question Number : 139 Question Id : 43417823859 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST Hehel TTeEe TR T Wehat oomT argen HEE I
1, THSATHT == 1
2. TgamdT s==t 5

3, U39 FHed TR =1 4
4, T dhed Tfad S=d1 1§
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 43417823860 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST T SR TR ST 2|

2. ST (HTH)
4, AT fo=+
Options :
1.1
2.2
3.3

4.4

Question Number : 140 Question Id : 43417823860 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

ST 2T AR ST 30
. @fm
2. ST (HITH)
4, 99T fawEE

Options :

1.1

2.2

3.3

4.4

Question Number : 141 Question Id : 43417823861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
SRR o, T e, et 1 T a1 e el 6 37 ) B0 & o emagen e o e
1, T
2, AT
3, T
4 T

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 43417823861 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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L
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Options:
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 43417823862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
7fe 3 Wizt % o Tt Si fadaned? ST =ed € ot 2Tt foRaehT sTavassar arie
2. e
Options :
1.1
2.2
3.3

4.4

Question Number : 142 Question Id : 43417823862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 143 Question Id : 43417823863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 143 Question Id : 43417823863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 144 Question Id : 43417823864 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 144 Question Id : 43417823864 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 145 Question Id : 43417823865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 145 Question Id : 43417823865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 43417823866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 146 Question Id : 43417823866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
s SR AU eT-al § Faeid & I g S faenfea &
1, TEA 03 a0
3. U W e
4, S UF 424

ammﬁg&mﬂl%}%l

Options:
1.1
2.2
3.3
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Question Number : 147 Question Id : 43417823867 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 147 Question Id : 43417823867 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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2.2
3.3
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Question Number : 148 Question Id : 43417823868 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 43417823868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 149 Question Id : 43417823869 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 149 Question Id : 43417823869 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 43417823870 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 43417823870 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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